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run_13048089 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 17 19:31:40 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

60

50

RMS (ADC-ped)

40

30

20

10

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

APV channel

60

RMS (ADC-ped)

50

40

30

20

10

||||||||||'I111]1111]I.......... i

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

APV channel

60

LI I-=I1

RMS (ADC-ped)

50

40

30

20

10 —

. . i
20 40 60 80 100

[CADC RMS for RDO=1,ARM=0,APV=3__}

= — .

S 60 [ :

4} 2

a o

< :
o

2 50 f— :

n: — o

w0 = :

» - :

= 2

e :

20— -

L= E

10 f— g

o = i i i i i i

0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

60 =

50

RMS (ADC-ped)

40

30

20

10

i
100

20 40 60 80

APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 17 19:27:21 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

ADgApecl

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

ADgped

1
2000 3000 4000
raw ADC

1
1000

[ADC for FGT RDO=1,ARM=0,APV=8 }

ADCped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=9 |

§Oz

a
<

e
0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—- - -
< =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
) =
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13048089 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Fri Feb 17 19:31:06 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

L i i i
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

APV channel




run_13048089 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Fri Feb 17 19:31:41 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

60

50

40

30

20

10

BJ-0133XEEEECCO0O00IIXEEEEECCOOOY

i i i i i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

=
£y
80 F=

70

60 =——

50 |

40

30

20

10

0

=
¥ — " " " " " " " " " " " " " " "
0 20 40 60 80 100 120

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

°'H1'I'|'II1"

i
120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

160

140

120

100

80

60

40

20

0

%I Irr[lllllllllll]ﬂ

111
o

'|111]

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

120

100

80

60

40

20

I1'I'|

—

°'I1'I'[1'I'I'!'H'I'[I'I'f‘-‘!‘-_l—l—‘l'

20 40 60 80 100 120
APV channel




run_13048089 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 17 19:27:28 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

[[ADC for FGT RDO=1,ARM=0,APV=12_}

o = 4000 p—
3 5] =
3 3 =
%) =
9 Q 3500 f=
< < =
3000 =
=
2500 f=— 1
=
10 2000 f—
=
1500 E— E o
1000 = -
=
500 f—
=
1H] olE—1
= 2
= 10
L) . = 1
0 1000 2000 3000 4000 0
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 | [ ADC for FGT RDO=1,ARM=0,APV=13 "}
L - 4000 p—
20 g = 2 2 2 2 : :
o o =
9 9 3500 =
< < =
3000 f=—
2500 fm—
2000 =
10 =
1500 f=— o
= 10
1000 p=——
o B 5 =
500 f—
. . . = . . . . . .
: == ; : e
E 11 B i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1LARM=0,APV=14 } I ADC for FGT RDO=1,ARM=0,APV=14 l
L - 4000 p—=
3 : : : g = . . . . . .
%0 g = 2 2 2 2 2 2
[3) (8 -
9 Q 3500 f=
< < =
3000 f=—|- - -
=
2500 f=—|- - -
=
2000 f—|- - -
. 000 b=
1500 f=——|- - - "
= 10
1000 p=——|- - -
=
500 f=—|- - -
=
0 fp=—|--~ -2
= 10
= i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=0,APV=15 | [ ADC for FGT RDO=1,ARM=0,APV=15 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
=
1500 f=— 0
1000 f=——
=
500 f[=—
=
==
= 10°
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1.ARM=0.APV=16 | [ ADC for FGT RDO=1,ARM=0,APV=16 }
.- 4000 p—
5] = . . . . . .
o =
9 3500 =
2 =
3000 =
2500 =
=
2000 =
=
1500 f=—
= 1
1000 = 10
=
500 =
=
0 =
= . . i . . . i . . . i . . . i . . . i . . . i . 107
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel



run_13048089 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 17 19:31:07 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13048089 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Fri Feb 17 19:31:42 2012

[CADC RMS for

RDO=1,ARM=0,APV=12 |

RMS (ADC-ped)

80
70
60 |5
50
20 f
30
20 [

10

i
0 120
APV channel

[ADC RMS for

RDO=1,ARM=0,APV=13 '}

RMS (ADC-ped)

70

60

50

40
30

20 |

10

APV channel

[CADC RMS for

RDO=1,ARM=0,APV=14 |

RMS (ADC-ped)

45

40

35

30

25

20

15

10

L L e

i
120
APV channel

[CADC RMS for

RDO=1,ARM=0,APV=15 }

RMS (ADC-ped)

50 4
1]

40

30.
» 1]

o = i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=16 }
50— e S  ELIL T L LT e L T e e L I

RMS (ADC-ped)

a0 tHT -1 T : : : R ERRECEECEED SRR

30 fr

T o e B e I B N ST vy R A N e i e
20 o e b
0 i

120

APV channel




run_13048089 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1AB

Fri Feb 17 19:27:36 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

ADgApecl

[ 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=18 _§

ADGped

I
3000 4000
raw ADC

1
1000 2000

ADC for FGT RDO=LARM=0.APV=19
—

ADgped

1 1
1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=20

ADgped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=21 _§

ADC1ged

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17 }
= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
o
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=18 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 =< <= - - -
< =
3000 f=— v s v s e -
=
AHD| Spocacane
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = ST
=
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
=
=
= i
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=21 .
= 4000
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

APV channel




run_13048089 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 17 19:31:08 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

I
<G 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

3 =
3 —
Q 1500 p—
8 g
< —
z [—
g o
] [
1000 f——
500 f—
M
L
0 b=
500 = i . . . i . . . i . . . i . . . i . . . i
Q 20 a0 AN 20 100 120

APV channel




run_13048089 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB

Fri Feb 17 19:31:43 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

a5 =
40

35

RMS (ADC-ped)

30

25

20

ICRISENACERICRITCHACE]
LLLLY AR R ARRE]

15

10

5

° 'IHI]II'II[I‘.‘..’

0

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

50

40 |+

RMS (ADC-ped)

30
20 k=

10

[ ADC RMS for RDO=1,ARM=0,APV=19 |

1
120
APV channel

" " " " " " " " 1
20 40 60 80 100

45

40

ITI-FI-ITII

RMS (ADC-ped)

35

30

25

20

15

10

© e A eI EE T

[CADC RMS for RDO=1,ARM=0,APV=20 _}

i
120
APV channel

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

APV channel

90

80

70

RMS (ADC-ped)

60

50

40

30

20

10

0

120
APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Fri Feb 17 19:27:46 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

.
¥
Q

a)
<

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

AD%ped

I
3000 4000
raw ADC

1
1000 2000

[ADC for FGT RDO=LARM=1APV=2 }

ADgAped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=4 }

Angped

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

= 4000 p—
] =
& =

Q 3500 f— - -
< =

3000 f=— - -
=

2500 f=— - -
=

2000 fm—— - -
=

1500 f=—— - -

1000 p=— - -
=
=

500 p=— - -
=
=

ofE—+

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 fm——- -
< =
3000 f=—— - -
2500 fm— - -
2000 f/— - -
=
1500 f=— - -
=
1000 f=— - -
=
500 f—
=
ofE—--
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
oE
= i i i i i i
20 40 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
] = . .
& =
Q 3500 f=— sebe TR
< =
3000 f=— CES EEN Y EEEE RS
2500 = [ R R
2000 fm— aajaadpogeaniials
=
1500 f=— St EEEE
1000 P=— - v - b e e e PR TR S EREE T
= 8
= 8
500 p=—-----feceonn afeolieadpeqlosiele
= 8
Of—--rrrpmmmmn EEEEY T R EEE
= 2
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. S8 EO.d LA Ei.h

10

10°

10°

10

10"

10

10"

10°




run_13048089 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 17 19:31:09 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13048089 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 17 19:31:45 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

60 p——---------

50

RMS (ADC-ped)

40

30

20

10

°'HHIIIIII1111]'I'I'I'I'|THE 1

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

60

50 |4

RMS (ADC-ped)

40

30

20

10

i i i i
20 40 60 80 100 120
APV channel

60 |

50 [r

RMS (ADC-ped)

40
30 [
20

10

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

=

RMS (ADC-ped)

i
120
APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 17 19:27:53 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

iIsc=

2,D

In=

imeb

Fri Feb 17 19

run_13048089 FGT_MPV_1,T

110 2012

31

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13048089 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 17 19:31:46 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13048089 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB

Fri Feb 17 19:27:55 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

AD%ped

LI
[ 1000

2000

[[_ADC for FGT RDO=1ARM=1.APV=13 ]

3000

4000
raw ADC

ADgped

1
0 1000 2000

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

1
3000 4000

raw ADC

-ped

Al
<

1 1
1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=15

3000 4000

raw ADC

ADgAped

0 1000 2000

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

3000

4000
raw ADC

-ped

Al
<

0 1000

2000

3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
g =
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
2000 f=——
=
1500 f=——
1000 E._
500 E—
o
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000
2 : : : ' :
8 3500 cos¢essesc0000gs00s09500550000955hs09c005505bossaqsgococssaos0os00s00gp0500505bo0550000F500509500550000554(050950
<

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

100 120
APV channel

[[ADC for FGT,

RDO=1,ARM=1,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. 0 B B . L A

10

10"

10

10"

10

10"

10

10

10

10"




run_13048089 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Fri Feb 17 19:31:11 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13048089 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Feb 17 19:31:46 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

60

rh‘:F’H

50

RMS (ADC-ped)

40

30

20

10

TITPTTTTTTITT rrrr[rrrr[r

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

i
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

= =
g (0T e
& H
2 =|
< 60 Pl b P - e
%] —
= =
['4 p—
50 bl P e
=
R EEERETE U E F P S
=
30 /—
20 =

10 p——

il

0

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=16 }

50

40

30

20

10

i
120
APV channel

RMS (ADC-ped)
°'I1II[I'I1I!H'I1]H '!1|H!1%;£Ijl1




run_13048089 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2AB
Fri Feb 17 19:28:03 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |
5

3

5
4]
30

10

1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=18 |
o

3

[
g

1
0 1000

I
3000 4000
raw ADC

2000

ADC for

FGT RDO=1ARM=1APV=19 _§
—

-ped

Al
=)

1 1
1000 2000 3000 4000

raw ADC

ADC for

FGT RDO=1,ARM=1,APV=20

ADgped

1000

2000 3000 4000

raw ADC

ADC for

FGT RDO=1ARM=LAPV=21 _J

ADgAPed

0

1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=1APV=17 }
= 4000
&
Q 3500
<
3000
2500
2000
1500
1000
500
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=18 }
= 4000 p—
& = : : : : : :
9 3500 f=—
< =
3000 f=—
2500 f=—
2000 fm/——
1500 E—
1000 E—
500 f—
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=19 }
= 4000 p=
g = o o o o o 5
3’ 3500 %— ------- -
< =
3000 f=—|- -+ - - - - --
=
2500 p=p—]- - - - - - .-
2000 f=+ oofpee
1500 === - === - - 2o
1000 §— ------- 2o
500 g— ------- .-
0 = -
=
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
g = 8
Q 3500 f=—|- - {-"1 - [ER TR o EEEE -
< =
3000 fm—1|-4-{--t- R EEEE B R e
2500 fp=—y-{-{- -1 - U N - AN
2000 fm—|- {-{-- 1 - aaspasagpilpeacs dhocas
=
1500 f—|-{-1- -t - EEE TR B R -
100051—- alloobafeandpgllanspacsdbdkeasa BT
soof-—- I EEL L EPEP FPE PR TEPE B FEPE e
= 8
Of |- q--r-t-ref-aqrmpme- - e
= i
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=21 .
= 4000
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

APV channel

.. 8 A .l ., LA

10°

10°

10"

10

10°

10

10°

10"




run_13048089 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Fri Feb 17 19:31:12 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13048089 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Feb 17 19:31:47 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

= —
S o
] 70 H
< 4
2 60 [
°‘ H
50 B g :
20 B
B | : :
30 F— g .
20 §_— : :
10 fE— E :
o BE i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=18 "}
=
g
[}
a
<
(2]
b
o
[ ADC RMS for RDO=1,ARM=1,APV=19 }
=3 @) [T T T T T T T T T O U S U D U D T T T S D T O U T O D D O O D U D T D T O D T O O T T O U D D U D O D U D T O D T O U T U U DO U D O D U D D SO T U U DO U DO U D O D O O T T o o T
& =
Q —
g 5 | == q=a}oanaganacacaaadhacocnanaoonananoan00004ho00000000000000000000000600000000000600000604RA000000000000000000004A0000000000000000000004PO0A0A
o —
= —
4 L]
40 [
30 [ e -
20 :
10 %
0%
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=20 |}
3 =
=3 70 |
o
: =]
=4 60
2 =
@ oy
50 kE
40 ::
30 B
20 =
10 :
= i
0% 120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=21 "}
=
g 80
[}
a
< 70
(2]
z 60

50

40

0 =

20 |

10

0

20 40 60 80 100 120
APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Fri Feb 17 19:28:10 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADé}ped

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

ADgped

1
2000 3000 4000
raw ADC

1
1000

[ADC for FGT RDO=1,ARM=2,APV=3 }

ADgped

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

-ped

Al
<

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1ARM=2,APV=0_}

10°

10"

= 4000 p—
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B VR £ EPE R | T [E ST
< =
3000 P=f—|- <= {-t-f---- egoi|=|i=p==qkk=g==> oofpoocscas
=
P = o EEERER S RERER AEEE B ELERE | ERERER] I & oofpoocscas
= 8
2000 f=—|- <~ {-t-f---- CER B B EEE § EEE R | EEEREE oofpoocscas
= i
1500 |- [« 4=t < p -~ - B EIERE E EEE PR | B
1000 P=t—|- A= 41 -f - - - 1 EEEE B BUEEE £ ERE R B TR
= 8
= 8
500 fet—|- (- 4=t fo-n-H caol|ollcposdilslses R
= 2 8
=] -1 = 2
)= = EEEEEE Y EEREE EEEE B S R £ EEE ] | PR B
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=1 }
4000

3500

ADC-ped

3000

2500

2000

10

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

1000 1
500
0 4
. . i . . . i . . . i . . i . . . i . . . i 102
20 40 60 80 100 120

[ ADC for FGT RDO=1,ARM=2,APV=2

APV channel

10

10"

= 4000 g
3 = .
2 = H
Q 3500 B A-{-1-}-F-F 4514 --F------ 1-
< =
3000 B A-{-1-}-F-F 4414 -F------ 1-
=
2500 pE—-A-{-1-}-F-F 424 F---- - 1
=
2000 [ oo
=
1500 B 4-1-1-f-r- - 1 S LELELE ==
1000 B - 1-1-f-r-F -4k ==
L
V)= O B X Y S O AR | PR PP adha
=
)= -t - -- PR
i i i
20 20 60 80 100 120

[ ADC for FGT RDO=1,ARM=2,APV=3
4000

APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

© T TR AT TR T

[ ADC for FGT RDO=1,ARM=2,APV=4

80 100 120
APV channel

- 4000 p - - - - -
o =
9 3500 |- - - - - - - N EEEET EEE B LR RS T e R EEEEE
< H
3000 P~ ------ dp=oosilesc|idrodrqle=eqes Jpefpeo=c- U EEEEL 1
2500 - - - - - - dbacacloac|ldbadpdescdca S o
rm
2000 |- - - - - - | S EERY I T B R A PR
=
=
1500 fEH—|- -+ - - - B SRR EERY Bl TE PE P e Speeens 10t
i=.
1000 pF—f- - - - - - N EEEEY EEE) B LR RS T e R EEEEE
=
500 pF—|- - - - - - - H EEEET EEE B T LR RS T e R EEEEE
=
L= o B i il il e el et ettt o Hroegeocee itk 2 10?
Bl . . . . i . . i . i . i . . i .
0 2 40 60 80 100 120

APV channel




run_13048089 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Fri Feb 17 19:31:13 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13048089 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Fri Feb 17 19:31:48 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

140

120

100

80

60

40

20

0

SFHHHH 'I'I'I'l*H'I|11'I'|'I'ITIII1]1'I

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

50
40
30
20 [

10 |2

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

60

50

40

30

20

10

Niiiii I11'I"ITH|II1'I'|'I'I'HIHI1'|

i
120

APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

250 f—

200 [——

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

120
APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Fri Feb 17 19:28:18 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

[ 1000 2000 3000

[ADC for FGT RDO=1,ARM=2,APV=6 }

raw ADC

ADé}ped

[ADC for FGT RDO=1LARM=2,APV=7 }

1
1000 2000 3000 4000

raw ADC

ADgAped

1
1000

[ADC for FGT RDO=1,ARM=2,APV=8 }

1
2000 3000 4000

raw ADC

1000 2000 3000 4000

[ADC for FGT RDO=1,ARM=2,APV=9 }

raw ADC

AD%ped

LI
0 1000 2000 3000 4000

raw ADC

4000

[ ADC for FGT RDO=1,ARM=2,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© B AR R R A

[ ADC for FGT RDO=1,ARM=2,APV=6

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=7

4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|r|1 I|‘I1II‘|1 T

[[ADC for FGT

Py
]

0=1,ARM=2,APV=8

4000

APV channel

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=2,APV=9

4000

40

80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. 8 .0 . . A

10

10"

10

10

10°

10"

10

10

10

10"




run_13048089 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Fri Feb 17 19:31:14 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13048089 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Fri Feb 17 19:31:49 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

2l =
=% —
g 120 =
Q :
< —
[%] —
s 100 E—
['3 —
80 f—
=
60 p—
a0 f—
20 p—
1:
0%

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

350

300

RMS (ADC-ped)

250 [£
200
150 |

100

50 - - . J-L

0

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

90

80

RMS (ADC-ped)

70

R

60

50

40

30

20

10

H N N i
0 120
APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

140 fF

120 =
[

RMS (ADC-ped)

—
100
80 |
—
60 [

40

20 |+

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

140 |

120

RMS (ADC-ped)

100 f+
—
80

60 [r

40 |

20

0

APV channel




run_13048089 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Fri Feb 17 19:28:26 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13048089 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Fri Feb 17 19:31:16 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13048089 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Fri Feb 17 19:31:50 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13048089 FGT_ ADC 1,Timebin=2,Disc=3,asmb=3AB
Fri Feb 17 19:28:28 2012

[ ADC for FGT RDO=1,ARM=2,APV=17 |

[[ADC for FGT RDO=1,ARM=2,APV=17_}

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=2,APV=18 _§

AgNOped

1 I
0 1000 2000 3000 4000
raw ADC

>
o
(s]
E)
2
@
g
3
3
(]
i
B
Ik
>
>
3
<
;
I
5
L

ADgAped

1
2000 3000 4000
raw ADC

1
1000

[ ADC for FGT RDO=1,ARM=2,APV=20

ADgped

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

0 1000 2000 3000 4000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT

RDO=1,ARM=

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[[ADC for FGT,

Py
9
o]

|
]
)
<|

N

>
T
T
iy
©
b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
100 120
APV channel

L0 LN LA A L A K L il

[[ADC for FGT

RDO=1,ARM=2,APV=20 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

il

© AT TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=21

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

80

100 120
APV channel

rm
m
rm:
m
rm:
o
L
b=
=
L
b=
=
L
I
0

APV channel



run_13048089 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Fri Feb 17 19:31:16 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

1500 |+

1000 [+

-500

-
Q

20 a0 0 a0 100 120
APV channel




run_13048089 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Fri Feb 17 19:31:50 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

120

100 4

80

X |

60

40

IEO0IE03K]

20

o
T

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

0 | F==co[FloodHhmoosoossdbossscacacasssslmfbocdbocacossonoo0550550500db00000005005555(M0aEEEEbEOEE5055050000000000EH09555030000000000055E5630000
o Bt {1 : . R : Y [ 5
—
30 f—-fb--eeee e b - S e e B e s L R
L
20 f—
10 f—
—
= i
0 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

il

60

50

40

30

20

10

S{=00003333333 31333 I NI IREREEEEE|

APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

10 |5

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

120
APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 17 19:28:36 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=4DA

4 asmb

iIsc=

2,D

In=

imeb

Fri Feb 17 19

run_13048089 FGT_MPV_1,T

17 2012

31

TARM=3,APV=0_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=3,APV=1 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=3,APV=2 "}

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=3,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=3,APV=4 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13048089 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 17 19:31:52 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Fri Feb 17 19:28:38 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

-ped

Al
U

I
3000 4000
raw ADC

1
1000 2000

[ADC for FGT RDO=1LARM=3,APV=7 }

ADOzped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=9 }

|

3000 4000
raw ADC

A[)gped

0 1000 2000

[ADC for FGT RDO=1,ARM=3,APV=5_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

o

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f—
< =
3000 =
2500 =
=
2000 =
=
1500 f=
=
1000 p=
=
500 =
=
0 =
=L, . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=7 }
4000

3500

ADC-ped

3000

2500

2000

1500
1000

500

0

APV channel

[[ADC for FGT RDO=1,ARM=3,APV=8_}

4000

3500

ADC-ped

3000

2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
b=
=
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© A A A A

APV channel

. .4 .4 . .

10°

10"

10°

10"

10

10"

10°

10"

10




run_13048089 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 17 19:31:17 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13048089 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 17 19:31:52 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

50

40 |
30 |
20 |-

10 f

i i i ‘V
80 100 12
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

50

40 |-

30

20

10

B = IEECOJXECOOXXI

" " " " " " " " " " " 1 " " " 1
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

50

40

30

20

10

R T T T TTR

APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

60

50

40

30

20

10

° |||||||11]111r]-H-I-f IIIHIHH[HI'I

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

2

18

16

14

12

1

0.8

0.6

0.4

0.2
0

H'1II|‘I1IIH1|HI]IH|1II[I

°'I1I[I'I1 i

APV channel




run_13048089 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Fri Feb 17 19:28:46 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

ADC-ped

[ 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=3,APV=13 _§

ADGzped

I
3000 4000
raw ADC

1000 2000

[ ADC for FGT RDO=1.ARM=3.APV=14 ]
—

ADOzped

1 1
1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=15

ADgped

0 1000 2000 3000 4000

raw ADC

[[_ADC for FoT RDO=1,ARM=3,APV=16 _§

AD%ped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] =
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000
2 0 0 0 0 0 g
T
Q B
8 3500
<

3000
2500
2000 fm— - 4= - -

1500

1000

500

T |r|1|[|1|r|1|r|]|r| |rm[|1|r|1m

0

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— i .
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
= R
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 p=—- - -
=
=
500 fp=—- - -
=
=i
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13048089 FGT MPV_1,Timebin=2,Disc=4,asmb=4AB
Fri Feb 17 19:31:18 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500 [+

1000 f+

500

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13048089 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Fri Feb 17 19:31:53 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

120 |+

100 f

RMS (ADC-ped)

80 |
60
40 F

—

20

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

60

50

RMS (ADC-ped)

40

30 fr

20

10

APV channel

[ADC RMS for RDO=1,ARM=3,APV=15__}

1

60

50

RMS (ADC-ped)

40

30

20

10

° |||||||||||111]111'I HHHHH {'III

APV channel

| ADC RMS for RDO=1,ARM=3,APV=16 }

RMS (ADC-ped)

M
L]
50 [
=
40
30
20

10 £

0 20 40 60 80 100 120
APV channel




run_13048089 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Fri Feb 17 19:28:54 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13048089 FGT MPV_1,Timebin=2,Disc=4,asmb=4AB

Fri Feb 17 19:31:20 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13048089 FGT RMS 1, Timebin=2,Disc=4,asmb=4AB
Fri Feb 17 19:31:54 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13048089 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Fri Feb 17 19:28:56 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

ADgApecl

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

AgNOped

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

-ped

Al
Q)

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

Aé)oped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=4 }

-ped

Al
Q)

2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1 }
= 4000 p—
] = . . . . . .
5 = :
8 S = R B ° . i R
< = 2 8 2
3000 P=— == t----- Focgqesofpsosss =
= .
2500 f=— o= = st s e GEELCELE ELELE -
2000 fm— - - --t----- EEEEE P R -
= o
1500 = v|= s = np e s EEEE S EETY PR -
= 5
1000 f=— vf- - = e m s EEEEE EEE PR - :
= : H b
500 fm— ERS PR PPRED
= 8
ol e e e S
= . i . i i i i . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=4,APV=2 }
= 4000
] =
oy =
Q K = e o Rl R B R B o R B Rk B R e Rt R R R R R EECEEEE i EECEE TR BF B B
< =
3000 R |- f == e b el b bt e R BX R
=
P = e B R O e B e e e e e B B T PP R LR R TS FEE T O PP SRR BF B T
=
2000 SR e =q=pes
=
=W |E=gplei = olpecde8eq oo eoooeomoocpdbdpocococddpeoag|pf/scecacasacsoscacsdhqpossacsonsacscpepossagbgecacs peegpilegiefee
WD |Z5=9floi|=ofolpo=degeq oo eoooeo=o 0o pgeqpocacacddbeoag|pf/scecacasacsoscacsdhqpossacsonsanscpebossagbgeeans peegpylegiefee
=
500 fF— |- {- - b e bbb b e Locdkilllakas
H —
oM -]--t- - ER iR e
s i i i i
20 40 6! 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 }
= 4000
]
&
Q 3500
<

3000

2500 f=

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=4,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. 0 ., 8 . A

10°

10°

10°

10"

10°

10"

10

10"

10°

10"




run_13048089 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 17 19:31:20 2012
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run_13048089 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 17 19:31:54 2012
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run_13048089 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 17 19:29:03 2012
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run_13048089 FGT_RMS 1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 17 19:31:55 2012
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run_13048089 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB

Fri Feb 17 19:29:04 2012
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run_13048089 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Fri Feb 17 19:31:21 2012
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run_13048089 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Fri Feb 17 19:31:55 2012
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run_13048089 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB

Fri Feb 17 19:29:12 2012

ADC for FGT RDO=1ARM=4,APV=17 _§

Aé)opecl

1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=4.APV=18 |

-ped

Al

I
3000 4000
raw ADC

1
1000 2000

[ ADC for FoT RDO=1.ARM=2.APV=19 ]
—

3000 4000
raw ADC

g8
2000

[ ADC for FGT RDO=1,ARM=4,APV=20

ADCped

LI
0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=4,APV=21 _§

Aoaoped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

tioca

0

N
NE-

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=18 "}
4000

3500

ADC-ped

3000

2500

2000

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
I
=
0

1000
500
0
i . . . i . i . . . i . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=19 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aildEINTERIAGNATGRAARNAGRARRIATENATENATENAG]

20 40 60 80 100 120
APV channel

[[ADC for FGT
4000

Py
]

O=1,ARM=4,APV=20 }

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]m |r|1|[|1|r|1|r|]rr|1|rm[|1|r|1rr|

0

APV channel

... . e d R R

10

10"

10°

10

10

10"

10°




run_13048089 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Fri Feb 17 19:31:22 2012
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run_13048089 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Fri Feb 17 19:31:57 2012
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run_13048089 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Fri Feb 17 19:29:18 2012
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run_13048089 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 17 19:31:23 2012
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run_13048089 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 17 19:31:57 2012
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run_13048089 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Fri Feb 17 19:29:26 2012
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run_13048089 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
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run_13048089 FGT RMS 1,Timebin=2,Disc=2,asmb=2BC
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